Answer on Question #80054 — Math — Calculus

Question

x—1

g(x)=x2—5x+6

. Limit of g(x) as x approaches -2 from left

2. Limit of g(x) as x approaches 3 from right

3. Limit of g(x) as x approaches —infinity
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. Limit of g(x) as x approaches 3 from right
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Here, x—3+0 = x>3 = x-3>0

. Limit of g(x) as x approaches —infinity

y _ 1 x—1
x—l>I—noog(x) o x—1>r—noo x2—-5x+6
1 1 ) 1 1
R o
= lim =g 6 1—0
X—>—00 .
1-2+5 Jlim (1-37+33)



Answer:
x—1

g(x)=x2—5x+6

1. Limit of g(x) as x approaches -2 from left
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x—l>l—r£1—0 g(x) - %

2. Limit of g(x) as x approaches 3 from right

lim g(x) = 4o
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3. Limit of g(x) as x approaches —infinity
lim g(x) =0
X——00
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